EF

PR ZFZNE S =+ —HIILFE - AL B S ER L 338,140,000 ¢ (ZFF =4 : 4
91,996,000%5 70) > L AEHN267.56% » F N > 8% B F| 4 £52,681,00045 7T - B 2 4 1,209,000%5 7T #i
FF122% - Bif% G 5 4 £56,584,0000 7 (ZFF =4F : Bif% 5 1H %7 58,859,000% 70) o & k548 44 (1.1)
WAL (ZF T =4 - R HE Q2. ) Al

HEEMMEERAAREEIR R —REMREEMEGE S K82 nd » ZAFRBERER
ARG o k& i s — R R AT E 2 5 7 AR 2R 4 38,826,000% T T B -

5 %5 ol

(o] L 4F 1 > AR B R 2 BE A SR AL S 36 Ty B RER T 35 ¥ 1 < M R BR DR S o My DR AE B R 2 3
B R > AN AR B R N BEL S B 0 PF 5 AR SO BB D 2 AR o BB AN AR EAR DL B B0 I
B R[] o AR 4R ) 2 B0 O T B R o IO IR R ARBS B o o0 A R AR A AR~ T SE kT R AT
MR b [ B T BT -

B Ath [R] 2 P i ) 2 HE B K HE JIE O U BB > A 4 R Ak 2 B AL O 1 DA BB TN 2 JBE ) R RE B A G BR
PRIE R o BEAL 5 3 i MR R B (B L& R P SRAL) - TR v R ik 2 BT R B S s
ZRA o SR o B A BUAC A K AR B S AR > MEIELYE TS B A BN BRI AR 2 B R Bk o M
A KB A A 2 R s PR AR R K o R HMEAR 5 H @I KT 2 S A IR R R 6
R+ KN KAEE -

ARAEEEB RN BT IAE A EERBLEE AR (84 ]) —ENRFRRAE DA R ARG
WEEER o HAlG 8N A IF L E#— HERR El)’E P00/ ME BE W) VE 55 38 2 AL 1 - SEAL MR 8 —F
FNE T HFE o

MAER T2 AR TG i i > AR B -+ = 7 AT AU P B R SE — [ S (TR
A RE 2 o RSE G B 4 F 1B AR B N A g DUBE Y SR AL B T8 2 685 > AR —
B o

l dl

NFED 39%
fAEN A

ﬁ%’?

BRI EEAEE  AEEGIAZZARBEGETRAKBZTEFMAERG - QFBIBMGLE B
EAARLMAERTRHBE) - @I E ERERAEFRFPITES) LERR L BERE/EE
FEFBHATER) o AL BIC HEA 58K 2 BOREBE XA B (L > 1 B AS 4R B — A g -

“EENEER

8



9

wf w52 g A

BE_FFZNEL A=t —HILFE > ZRZEERPER - R AR RMRE - B4 - RS
Fe Foth— e & 5 360 < ZE A E R BT B MRS o AF R AL E IR E R AH TRl A AR - A
4 B OR B LT 13 B0 S

J B

W MR RS T 1] > AGEER TR R TAE—H A N H A A M O A R R R TR R ER
WENARAF] o EHGARE > B A 7 4208 E U5 A B 268 7 8t - 3 AE S A 52 B R 2% IR0 7k %
MEEEMGHME LI o

TRBRABIAERBIZERKRM - “FXHFE—H > AEBRERBEETHBT ([HFwE T &
Bl R SEE (TRYEED BIFHITESE - Rl £ 7 LR AER RN S & - REtEE
Ko SE05 R 07 T RO BLE NG o DA SR BT S B R AR A R m AR B TS MAE > By
B2 B R A R PR AR ] 2 R -

TERTRAEZA > AL RO R E T R IRBR A R AE A R (ThRHE A RETR ) 4932.89%
A HE £ > Z% A SR B0 SE BT B IR A — B 2 AR AR o PRLE M REUR ) DR R BE AEE A - MR 13
VR A G A AT SR o MR b R T RE VR R R A H A R B i R AR EE
e AL AE > SN SEB R (E S > WA B 2 BT ST 7 o S TE A Hp B} B g S B A R T AR
A T o R B A B AL Bn TS RS > [RIUE o SR T AR I i b R RE YR P R 2 JRRE > DU
PRI SE S 7 #8 2 HR AP AR

A 5541 K K 96 0 4 1 5 2 2
ey 7 JII K

HRHER R & 1A R A




H BRI T4 B 0L b PR | (CIFB) S8 48 452 fil 358 8ty S0 0 % 1 88 3 i B el A o 2 B 0 o EL I B8 A1 A R S

Foly o a0 oh B AR BOK G Bz ST AL RS o DU R 2 Bl o 5] B ki B R BE S A O & T KE i

J?E'Jﬂﬁk?ﬁkﬁ I 44 3 ) R O K 98090% - i EL Bt 4 48 M AL W e B S SE R E ALY - BL AT
CESNIENE NS &P e A P L TR e

B_FRNAF=AWERZESE AR ZRARERRE » AE BT T FAF I i 5LV R E
HRAF ([ELEE]) 2 100%H 4 » ZARZ FEEEAFNFARZESGE A SI1R AR - JET
B PRFIRE A RS A A F90% B A RE RS o A A RE SR U S = TE I I RN AR
BeEE o 5% =0 MR A A EAE A S B AT 3 3,000 5 KL o

R EFTAENA - A G B O A B R A R R (THEF)) 2 100%HE 8 < A )9 2 B &
BAR (MM AR Z B 1AM A 2w TR e B A JH B3 7 K88 BE ) S8 AL B hn T 3675 -
A WS B S JE S8 BAR - M S 7 A R R AR R R BR AR ] 4 B AT 8090 4 2 WY B 4 D

7S S [ R P o S A A R A T L B KB T R R G o A HLEARAS o B R T A E R
S5 — M A R R TOAR B o T LA DO AR E RS I Y TN AR B IR AR E - THEH I & 8R4 T IR
dt o 7N AR i AR AR R SR AL AT SE W A L b B ) 2 SE K o IR R AR A R R A5 A AR W] B )
o

¥E 4 L ) P e Wk e O
AEEMERDLEARRLR  CERELEZAMB SR - HERZOEE LB RBEEERE -

W OEENES A=+ —H > AEEAGEFREEE 115,338,000 0 (- FE =4  FhB A&
#113,510,000% 70) M B & 4 £1119,941,000% 70 (- FFE =4F @ £134,290,000% 70) © & i 8 & & KL
WG > FEE NN N X EEIEH o

R EEE+F ZH =+ —H » A5 H#20,000,0004 76.8.5H = F %/ 4 | # 7] 1E B 0] 0 ik SR A

AMEBRMEE - AEBEEABER GIFE T EHAMEE (BETHRRZERE RUAREBR 2 BRRES)
55017 (FZF =4F : 048) -

“EENEER

10



-

III I I|I )” :

a
-
i

RN AR AR R 2 O — T R RGBSR BT B DA R K R Rl R SR A SR D o LA

RFERE=ZFARNA=ZTH ARAHERERAGRAR (THEE]) KEEELEE KAAFESE -
PE B 45 PR ) 5t 2L 18,000,000 T 48 1F 18 58 1 A 3£295,000,000/8 %5 11 18 {50019k 7T 2 # I f —
(TEBME ) BT 7L FR M Wh ot o BRI T BIUAE — A + H 2 o aB M2 BT /5 20E I 4 2 i (&8
KB4 SRAT B o

ALK BRI ERA+ HE I ER® WA FTTNERA ~+/\H 2 #i7Ehk
BET) > B i £ 112,000,000 88 58 B > B BB E RO EE0.14% 0T - 2 IRELE R EEH
15,000,0004% 7T °

AN FRA ZFFMAFEN A A ) B R R E A RA R ([ 5 BB E ) 817
AR RCE SR > PRI > AR R R CEEAT I A B R A L R] A RR i 1£20,000,000% 5T 8.5)H i
TR TSRS R AL AT SRR ([RZ S R ]) > 66,666,666 R HE 6 4 1 i 4 T B4R R
SRR ML B KB AT o RN P15 K IE 1 B 40 2 19,000,000% 7T

ALEED —FFWFENHA L HFT L EREWE (EH A - FTRNEIH NH ZH2EE
#1) > BC 134,660,000 A% HT % » & BB & B EME 0.45% 0 - RIRECE 2 S 3K HF L
58,700,000% 7C ©

TEBENFE S —H T ZH > AREBFT LR > 217 MOBC % 4£50,000,0008% 857 B 0 B KRR
1 B 03 46 18 0.54%5 JT o T 15 2K JH ¥ %6 49 26,900,000 7T ©

WK BERE - W R h B

CERTBNE—~H —H > A%EEA R ¥58,800,0007C (FH 55 A 455,500,000 7T) 7E A8 T U
JEEGEEHEEAERA A49%BAER ST L AR EEMEE H® EHMAE T WFE—H —HZH
kBT o Bl ER BB AER A =+ — HEM o & A4 438,826,000 7T I Uk 25 ©

Wk b 3T TS5 (o L K TRl ) v B BT 4 R A > AR E R FWAE+ H =+ — H IR F R
TR ERBE -

11

HRIERRE S A RAF




ST Y

BOAR B B AR R I
W oFERENFE T H =+ —H > REBEGWEY E - MFE LA R E R E AR K 490,941,0004
jTE o

AEER ZFEFNES ZH =+ — B mE RS R A -

Y6 R
AEEPR TN ES A =+ — H IR E KA

TRBPUEER 12




